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2¢- The internal length of a room is two times

its breadth and three times its height. The
total cost,of painting itsg,‘four wall at the
rate of Rs.25/m? is Rs. 3600. What is the
cost of laying a carpet on its floor at the

rate of Rs.90.50/m?.
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3,600 39X ¥ 90.50 TG/ HeT FY X
¥ B W vF FHeld @S 1 dRa
o=t greft?

/ Rs.6516 b) Rs.7240

c) Rs.5430 d) Rs.5970
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‘40\/0\”/5 Levl & v 27-A room has length 15 feet, width 12
CU""Q’ dwirdows $feet and height 10 feet. It has one door

|80+ 5yx|0 - (.g—x,. +2.%$%3 ) of dimensions 8 ft and 3.5 ft, and 2
windows of size 5 ft X 3 ft. Find the

58 cost of painting the four walls and
—20 ceiling at %50 per ft2.
~<g frdY Ay Y FJ9$ 15 ft, @lsE 12
—_— ft 3T F9€ 10 ft &1 3TH 8 ft 3N
66 2x50 3.5 ft ${GMT3T aTel T axaren § 3N
_ 5ft x 3f 3HER 1 & RshEa §
= 32|00 %50 9RY £ A & ¥ ARY Aant 3K

Bd F 9T FIA T AT AT HI

a) 319,600 b) X21,200
c) 24,100 X33,100
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2%. A room is 36 m long, 12 m wide and 10
m high. It has 6 windows, each 3m X

< Mx.z.,. ) 2.5m, one door 9.5m X 6m and one

46 x/0- ('673)( ¥ "2/ fire chimney 4m X 4. 5m.] Find the
expenditure of papering its walls at the

y walls - DvaQWMdOWC

US+57+1€ rate of 70 paise per metre, if the width of
qéo the paperis 1.2 m:
_ UF FART 36 m Fdl, 12 m 9isr 3R
/20 10 m a1 ¥ =@ 6 RRReAT &
Ifogq%zk&éf Im Y% F HAHA 3mx2.5m B,
S

1 ) 9.5mx6m @I TH 4N g 3R

le2 4mx4.5m & & R#AA g 9
2 xT70g=Q ) FAY A HART W 70 ﬁmcrﬁrn"la
= #Y ¥ T YW AT FHT @Al fhder

B
W S Quner - 89T 3R A @ =isE 1.2m A
0% 846 #Rs.490 b) Rs.690
¢)Rs. 1000 d) none of these

|




29. The dimensions of a rectangular box are in

Im*— 4 Z

12692 2252 m—

——

rd i

3(20°+ 88 +Ua¥)= 5. s

the ratio 1:2:4 and the difference
between the costs of covering .ﬁ&" with the
cloth and sheet at the rate of Rs.20 and
Rs.20.5 per sq m respectively is Rs.126.
find the dimensions of the box.

ot &1 AT 126% §| 3o & ITAH
qdr &3]

A 3m, 6m,12m b) 6m, 12m, 24m
¢)Im,2m, 4m d) none of these




30: From the four corners of a rectangular sheet of dimensions 25 cm X 20 cm,
square of side 2 cm s cut off from four corners and a box is made. The
volume of the box is

25 §. #. x 20 ¥. #Hl. @AT (aqFa$ x Tl=E) g vH MATTER fie
¥ IR frar § mﬂzﬁxﬁmmaﬁwm#m

memm%lwmmmwl
a) 828 cm? ) 672 cm? c) 500 cm? d) 1000 cm?

Ax|oX 2 iz

(6
,<—'Ql‘l~, 20 2|/ 2|
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5 Y0 {. 8 cubes, each of edge 5 cm, are joined end
@ 2! b’ 1 to end. What is the total surface area of the
resulting cuboid?

5 {l o & 8 " fFaRY ¥ Sz Rw
@ exU+5+5 =34 s ¥ AT oo @ Fa o

&P FIAT 87
MxSx5 = 85 O 650 cm? b) 825 cm? s
2 2 5
@ “—jxsc) 1200 cm d) 800 cm? 3 ¥
53&%/\—/\ =
gx\"'l'q |‘v “. WA
:3l‘| S\ Lx X
N 0N )
N
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2¢Three cubes each having volume 1728 cm3

a}: |'] 28 are placed one above the other. What is the
total surface area of the resulting solid?
=1z Y% 1728 cm3 WA it el gl

P TH g F W @M a7 g1 aRomeh
S FT Fel [T &a%el AT FY|
XY+ a) 2304 cm? b) 2592 cm?
c) 2160 cm? M 2016 cm?
=14 :}aw

\Ux 12%172

|SSC MTS, 20 Oct 2021, Sﬂ 8



3. A wooden piece in the shape of a cuboid is
AU = 22 Jﬁ’lé divided into five equal parts by cutting it
with four cuts perpendicular to its length,

22 X Qf: M 3 and it turns out that each piece is a cube of

Q=2 volume 27 cm®. What is the total surface
2 are (in cm?) of the cuboid?

R=27 U F HHR S oS F TH ¢

FI IHH dFAS AR R FHEHT Ui

1 a7 dEN #F aer o, iR s§ eR

¥ 9AF Ul THS & AFAA 27 cm’®
\\zx g I wAS H F TSI QTG

(cm? &) AT Y
a) 150 b) 174 c) 216 %198




y. Four solid cubes, each of volume
0\2’ - 1728 cm?, are kept in two rows having two
2 cubes in each row. They form a rectangular

solid with square base. The total surface are

(in cm?) of the resulting solid is:

Ydd 1728 cm® IIAA dld IR 3

el &' &Y 9fFaar § @ emer o3k

TAF 9fad A ) 5T @ I B

PR YR Tl IIATHR S Foldl

¢l aRumE AW F Fa gET Ak

(cm? &) AT
Y 2(Wb-+bh ML) a)1440 pi2304

5 c) 576 d) 1152

Wnaxg * 8 ey ¥ QY T st each Gbx vicht

T UxU=16 Jacor FT arga,

|SSC MTS, 18 Oct 2021, Sﬁ 0
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Vol
Intavior volume /Copﬂwy of box

= (Q—ZW) ><<b-2w)x(h-w) ,

Wood Voluwe

= Totad Volumae with — oy
Oudside dumend.  Voluwms
(Wood +aiv)

= (2xbxh)- 0ir volumar




Toda) SM;fﬂa oOMA
= [[_gA of Oufsrde + ba;sc] e
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5. A cistern of capacity 8000 litres measures externally 3.3 m by 2.6 m by
1.1 m and its walls are 5 cm thic!(. The thickness of the bottom is:
8000 e &7Hdr a9t ThdT F8 & gl AT 3.3 m X 2.6 m x 1.1

s ol m ¥ 31K sudr At 5em N ¥ sEF aw H S AT T

VO,WML a)lm 2"b) 1.1m %]_ dm d.) 90 cm
g &7 | Gikir = 1000 Cm?
329X 25 X (Il0-x)= g0SexIo0er
-:.‘0 —33D
. o /'
dﬂo\m—)dm 10 cvn 6o |
Ok

/
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¢- The dimensions of an open box are 50 cm x 40 cm x 23 cm. Its

thickness is 3 cm. If one cubic cm of metal used in the box weighs 0.5
NSNS NN
gram, find the weight of box. ]cm -1 ng"

mﬁaﬁm$m50cmx40cmx23cm%|smﬁra’t§|€
3cm%|mmﬁmséﬂﬁﬂ1ﬂ?cm%ﬁ'iﬂm
0.5 I ¥ df 99T FT AR Tar FY|

a) 8.4 kg %8 0O4kg «c)16.08kg d)32.16 kg
Box Volumae = Vo\ widh o dim. — 0ar Volume

22 \7
_%-.',?4 5—%(%)( 5~ U4 x2M4x 0.

.OM
\0075 -3




7. A wooden box (open at the top) of thickness 0.5 cm, length 21 cm, width
11 cm and height 6 cm is painted on the inside. The expenses of painting
are Rs. 106. What is the rate of painting per square centimetre?
THh ddhsl & IF8 (FIX § T §3T) T HErS 0.5cm, IS 21cm,
\0*6' : 11cm3ﬁTﬁ1§6cm%3ﬁWW@'ﬁ?ﬁﬂT€3ﬂglﬁf
n0% FA FT FA TG 106 § 8| 9 F F @I 9T T em FFa=m §2
a) Re 0.7 b) Re 5 c)Re 0.1 ,,d)/Re 0.2

lnsde— Uwalls + bottow
30

Soxll 4 20x0
=2

= ?)30-\-20’0-_ 5300ML_5|06%

| | 1
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8. The total surface area of a one-side open cubical box with outer side
length 5 cm and thickness 0.5 cm is

5 THh $ah § G Th UahR Bed FT Fo ST &9%d T30

G 51> AR e Y AEN arrE 5 em § 3N Bed A AE0.5cm ¥
a) 197 cm? b)213cn1 ck206cn1 A(222 cm?
Ovd S5da qwallQ ﬂl[: 0\”;:) ;zs.u,-_-.q
Imemtron wa den
M '4 U.5 /"
= A0x5 /
T26 + J-G—Xf‘aj%-rq |
125 +q7
L3 211




9. The areas of three adjacent faces of a cuboid are 12 cm?, 20 cm? and
15 cm?, then the volume (in cm?3) of the cuboid is
et gamer & fia Aweaw w@agl F1 9% 12 cm?, 20 cm? 3R
15 cm? § a 39 UTH &7 IAdA(cm>H) a1 FY
a)3600  b)100 )80 /60

TS A
-‘Q\OJD-&UMM_ (,(Uglf)jz': \2)(20)(\’:1
’Z\I\I“];qv %L\ =,l|2>(%ue’)(‘"?3
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Jo.The sum of length, breadth and height
_ of a cuboid is 25 cm and its diagonal is
9-”3-\%' 25 15 cm long. Find the total surface area

< 7 2 _ of the cuboid.
ARB4h =45 225 Bl wesr # wward, st Ak
IS HT INT 25 cm g 3R SH*
ot i aFa$ 15cm | g A

ToA = 2(Uo+bh+h)=? Fel TAT FT &G gal aﬂ’n
/ 2) 200 cm 400 cm?
c) 300 cm? d) 600 cm?
625 2
-5 ~ (G404 ) =m-\ Qx‘@&b\\o
Yoo \_&J

| | 18



|l The sum of length, breadth and height of a

=170 cuboid is 20cm. If the length of the
Q-\-b‘l’h 2 diagonal is 12cm, then find the total
2 2 2 122= [uy surface area of the cuboid. .
L+b+h= TF GA1H T aFars, 9z it S &

mzoW%ummﬁm
12 4t § @ o FT @FQUT ST

A(Wotbhth) = C"b“’)) CEL T e T |
= (H4bwr)  a)264 cm? b) 364 cm?
— c) 356 cm? %256 cm?
%
Ugo
-ty
256

| SSCCGL T2, 18 Nov 2020 S1 | 19



2:The sum of the length, breadth and height
of a cuboid is 28 cm. If the total surface

Q-I-b'rh =28 area of the cuboid is 588 cm?, then its
diagonal is: ‘
2(ptbhihl)= 588  fht wemr &t wwarg, wte sk Fard
18y FT ANTHA 28cm g a‘ig u;m T
2 2L gsST  &A%d 588 cm®  §, AT
Q+b+h= (28) - 588  famut wm =
_ 14 cm b)12 cm
- |q6 c)16 cm d) 15 cm
N[ Iy




% 3
Qi 3-2abce (ath1) [ o5 +C- abbiGa]

(ai—b_‘.( ) e 1 .2




/13- The sum of length, breadth and height of a

ﬂ b"‘I'F 22 cuboid is 22 c¢cm and the length of its
t diagonal is 14 cm. If S is the sum of the

6 cubes of the dimensions of the cuboid and
Q b+h lq V is its volume, then what is (S —3V)

equal to?

S=Q,+b+h Ugy frdft gae fr aarg, s ik S
=196 @ anr 22em & 3R zE Rwd A
s AREepimt e o &
& AT S
S-3Vs= JL+|o+h -3Wh vmﬁﬂ'&aﬁ%m(s 3V) & AW
= [ et ?
_(Q%M)Eﬁb*""(%*b"’“&) ) 572 cm? b) 728 cm?
= leqg_ \\a\ﬂ ﬁ1144 cm3 d) None of the above

= A2x G - WY

22
CDS 3 Feb 2019



(4. The diagonals of three faces of a

cuboid are 13,v281 and 20

I [ bﬁj bt W, Jhtee?
v

b linear units. Then the total
vy __ I L h surface area of the cuboid is
5, 231, 20 L R L e
o\ et 13, v281 i 20
b";_) ) s THUTA! SHISAT & 8| AT HT
(Q.;b:leq ngmamﬁmm%?
25, 256 a) 650 square units
b-Hq = 28/ \9 2 b) 658 square units
256, w— A & _#664 square units
b\ +{ = 10Q 800 d) 672 square units
AL )= 850425 33242
\6a
B6— h=16 bsi
s e s BT




93“"91—;\3' [5- The tiiagonals of the three faces. of a
—a cuboid are x,y and 2z, respectively.
h What is the volume of the cuboid?

Rt gamer & AT Tagt & fawot

HHRA x,yBﬁT z %l HATH T

2 2 2 )2
{+b=4 p) LD ) 4y

2v2
— /J(y2+z2—xZ)(z2+x2—y2)(x2+y2—z2>

L2\ 2,2 _2 2V2
(l+l9+lﬂ - ‘l"\'n T d) None of the above

|CDS 20101 | 24



(6° What are the dimensions (length, breadth and height, respectively) of
a cuboid with volume 720 cm3, total surface area 484 cm? and the
area of the base 72 cm??

39 AT & JAH (FAY dFars, Iz 3R FEE) gar FA

ABh_ 1%0_ | Fore smaa 720 om?, 9@ SIGT 484 cm? IR UK F
M T2 aAFd 72 cm? g7
9cm,8 cm and 10 cm b) 12 cm, 6 cm, 10 cm
c) 18 cm, 4 cm, and 10 cm d)30cm,2cm, 12 cm

Qbh=720  W.w 72+ nbtol=3u2

4 (lb+bh+h£)=_ug—\q—guz = 1o(leh)= 170
SCERP IS Lb=|7

q)Lg

| CDS 20121 | 25
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